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The figures in the margin indicate ﬁll marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

- 1x10=10
Aot PR oo e S P
(a) What is reservation price?
RS ECR R CREEE

() What do you mean by product
differentiation? -

7 RcsRea 3forca B 12
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(c)

@

(e

()
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(2)

Name the first economist who attempted
to. provide a systematic definition of
perfect competition.

@RE SRR v o 2w
WA &S 5 wmmw

If price < the minimum AVC, what will
the firm do?

aﬁmdﬁmwﬁ-ﬁaaw
oI R 3R 2 D

The demand function of a monopolist is
Q=1/5(5-P. If P=50, what is price
elasticity of demand?

O <Ioha oAb vRm vH ze

Q=1/5(5-P. 3 7w P=50 =, vIRAN
- Rfmee W 2’37

Fill in the blank :
R &% @1+ :
MRP, =MPP_ X ___.

RNy wEee ARTF TeqmaRerer = 1w
TGS AT TeomaRerer x ____

What is insurable risk?

SRS T A 7 2

( Continued )

(3)

() What do you mean by Pareto’s
optimality?
COICACBR TR P 4R WA 1 3@ 2

() What is project evaluation?
o R WA R 7 |

() Who advocated the interpersonal
comparison of utility concept?
e TS TAANTOR oA {RITCHT I
SISIEIRRE ?

2. Answer the following questions : 2x5=10

o 2PPTRY B o

(a) Write the differences between selling cost
and production cost.
KR Wx TF T WE TS [
NP forn |

(b) Differentiate between personal distri-
bution and functional distribution.
oo Revd uF f&Ee A W‘ﬁ Rew
Mere ANg o™ F4 |

(c) State the main limitations of Pareto’s
criteria for welfare economics.
RN Fome AT YRR To vl
TEy 90
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(4)

(d). Write the two conditions of equilibrium
in a perfectly competitive industry.
T#ﬁf?ﬂﬁ??ﬁﬁ@~ﬂhEWHMH‘1wnmlv‘gﬁ
i

(e) Distinguish between rent and quasi-rent.

AT SF AP I ARFAF-IEAR qere 4l
g o1 - -

3. Answer any four of the foliowing questions :
5x4=20
O PRI R I BIRGR Teg e

() Why a monopolist. does not have a
unique supply curve?

TN T Ry B qom e @
;_!TW ? '

(b) Distinguish. between perceived and
proportionate demand curve.

ﬁﬁﬁﬁssﬁﬁrawrwmswmﬁﬁRSEﬁm'@ww
'_ﬂmr'mﬂ°mﬁﬂﬁWNawn

(c) “Profit is the reward of the entrepreneur
for bearing uncertainty.” Explain the
statement.

‘TS xR SToRel T W SHIOR
3R 1” SReCHT T 3] 1
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(S)

(d) What is payback period method of

(e)

project evaluation? Write the limitations
of payback period method. _

AFH [N 1o TR owe WA {2
&1l TARITE ey ARFerHR o |

What is price discrimination? Is price
discrimination socially justified? Give
reasons.

1ﬁﬁrﬁﬁqﬁ93mwwﬁ@ﬂmmrmv
e |

“Rent can arise only if the. supply of
a factor is less than perfectly elastic.”
Explain.

‘At 1 oM @I e R
I |, (ofAz IEAR B T AR 17 [
RSl

4. Answer the following questions :

mem:

(@)

A9/859

Explain under what conditions can a
monopolist discriminate between different
buyers in fixing the prices of his product.

R & SR eome ST IR o g
I Res @wor TR (ody Sedfie
AR WY R 03 Im 3]0
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(b)

(c)

A9/859

(6)

‘ Or / |ed1
Why are monopoly price and profit

higher but output is lower than in perfect
“competition? Discuss.

SFCOA TS TR T O 7S 4ol 2AfSeaid
TR % F Ry T R R B
7 A ¥ |

Explain the nature of supply curves of an

- industry under increasing and decreasing

cost conditions.

Wﬂﬁwﬁwﬁwwqﬁmm
mﬂﬂmmmw‘

Or / {1

- Determine the equilibrium condition of

a firm under monopolistic competition
in the long run.

GRTR ARAeNET wRe NdFE™ 9
SR SRR o= T w11y

Critically ~discuss the
productivity theory of distribution.
Red 2RF TeATARETel SEHR AL
T SSIRCe |

Or/ &% 1
State and explain the Ricardian theory of
rent. What are its drawbacks? -
Rty o OG0! oI oI e 990 | R
Srormz 3 12

marginal ~
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(7)

(d) Discuss in brief the contributions of

Kaldor and Hicks to the field of welfare
economics.

Fome SN CFAS  IEUCH W‘W
S TP GG 1 |
Or / &Isdl

The expected life of a project Xis S years
and it earns profit ‘¥10,000 after
deducting depreciation, taxes and
interest. Another project Y earns profit of
18,000 in its expected life of 6 years
after deducting depreciation, taxes and
interest.

The net investment on the two projects
X and Y are 25,000 and ¥36,000
respectively. If the required rate of return

5+5=10

is 12-5%, which of the two projects will ’

be selected?

9ol 2 X dfie SFE 5 I[ IF %
SR @R [/ S, I E I© F6H e
S IR 10,000 B SH 9Bl AW Y
QT 6 I IF 2 I [N [ S5,
T R S FE1 FAge #1S I 18,000 B |
X 9% Y qeanl 99sd ) feh Rivams w1
7 FEEE 25,000 5 WF 36,000 O |
M AL oI I FoS  Afen 2N

12-5 *T@ie =, (0O 9 Fdifbe w1 29
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